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G].Oba]. Warm i 1 £1

emperatures are rising due to th
amount of CO2 in the Earth's
Atmosphere.
There are natural causes that can
account for a rise in a slight rise
temperature but not the amount
we have seen.




Evidence that CO2 is Cause

Global Temperature and Carbon Dioxide
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Cause of Global

warming
ainly due to the burning of fossil fue

such as coal, gas, oil and the removal of
our forest.
IE/ INCREASE IN INDUSTRY!
NOTE: Forests help to eliminate CO2
from the atmosphere through
respiration

Global Warming is being caused by the
) excess CO2 and the Greenhouse



The Greenhouse Effect =

Some solar radiation Some of the infrared

is reflected by the radiation passes through

Earth and the the atmosphere, and some

atmosphere. is absorbed and re-emitted

in all directions by

4 greenhouse gas

| molecules. The effect of

this is to warm the Earth's

surface and the lower

Solar radiation atmosphere.
passes through

the clear
atmosphere.

absmbedbyﬂw E!I'lp s.t"’ = Infrared radiation
. surface and warms it. emitted from the

£ \7"‘"“””




GreenhousSe Effect

Essentially, solakradiation is being trapped in our
. atmosphere by the‘excess CO2 or Ozone.

hasolar radiation ywarms the atmosphere<
and hence




Effects of Climate
Change

What are some effects of
climate change that you know...




